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Subject — Chemistry

g — 3 ¥9¢ Tis — 70
Time — 3 hours MM. - 70

ferder - (1) v wem afeard 2

Instructions : (1) All Questions are compulsory.

PESRE

Ques. :

PESRE

Ques. :

PRSI

Ques. :

PEE
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PEC IS
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(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given wordone or 1 sentence.

(3) 939 . 6 I 10 TH YUd T 2 3 IyEfed 2| (Ig JAr 30 7<)

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

(4) ¥eT 3 11 ¥ 22 TP TP YT W 3 ¥p Efed 21 (Ie QAT 50 )

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) W97 % 23 W 4 3(F IJEfeT 21 (I AT 70 =)

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) 927 % 24 T 26 TPb YID YIT WX 5 b IJEfed 2 (I FHET 100 <)
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) Sal & AT BT TE TS D Thel HH YPR B DTS B (1)
(1) Egg white beaten with water forms which type of collide?
(2) TR SoiF @ T=ET 9aT8y | (1)

(2) Drow the structure of ethoxy benzene
(3) SEFERI WA 3 Iif@ & WY TP F I R T FHG g1 & 2 (1)

(3) How will it effect our eyes when it comes in direct contact with
dichloromethane

(@) T & Wad @ oY B A Ry StRar) 7 ? (1)

. (4) Which vitamin is responsible for the congulation of blood ?

(5) Rafesess o1 IUPAC = ferfav | (1)

. (5) Write IUPAC name of Cinnemaldehyde

(6) f=ferfRad &t et aTar & a7 forfay | ()



Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

C.HsNH, , (C.Hs 3N , CsHsNH, , (C.Hs),NH

(6) Arrange the following on increasing order of basicity

C.HsNH, , (C.Hs )N , CeHsNH, , (C,Hs),NH

(7) T BRY § aUHH I W T g9 ¥ 9 Qo 8 T (2)

(7) What 1s the reason that gases are less soluble in liquid when temperature 1s

raised ?

(8) TN & < Iifa=l ol & T T T forfay | ()
(8) Write the names and formulas of two oxy acids of chlorene

0) @ fadhm =18 @1 sfAfprar & forv afeRe 3 Fwar AT B T W
fAferar &1 9 oW YHR Wi BN | )

(9) What 1s the effective on the rate of reaction when the concentration of the

reactants is double for a second order of reaction.

(10) Tfenfrad oo fel= W o7 el g & = ? (2)
(10) Why Anilinium ion is less stable than Aniline ?

(11) () vue (Fwe) wmA g’ H,SO, o #rn # gfg o @ foarg smawas
aRferfal &1 ferfag | (3)
(i) H,SO, = s Rk

(11) (1) Write the conditions 1s required to increase the mass of H,SO,4 by the
contact process

(i) Write any two uses of H,SO4

(12) ey fewol falRay — @)

(i) 15 I T @ TESES BT Wiy

(ii) TeHY B YIRHY

(12) Write short notes

(1) stability of hydrides of 15® group
(1) Allotropes of sulpher

(13) D-Glucose & pentaacetate # 2y Vfessme g @1 erjuRafa o o9
THST ? (3)



Ques. :

Ques. :

Ques.

Ques. :

Ques.

Ques. :

(13) How do vou explamn the absence of aldehyde group in the pent a acetate of
D-Glucose

(14) 71 95T & USHaAD! BT 7F AR wea fIfey | (3)

(1) STl 66

(if) Spis

(14) Write the names and structure of the monomers of the following polymins

(1) Nylon - 66

(ii) Dacron

(15) eI IYATST BT B fhs! T9 TR B S Afed T == (3)

: (15) Explain any three types of synthetic detergents with example

(16) TP TAT FRUMHSB (A=l daTel faeraql # Bis o9 3fax fofaw | (3)

(16) Write any three differences between positive and negative deviation solution

(17) Ygfafam & ffor o forg Sga emee da @1 THIfha = IR 1 (3)

- (17) Draw the labeled diagram of electrolytic cell for the extraction of aluminum

(18) 9 warerm # 318 K w® N,Os & 3meres a7 [2N,05 — 4NO,+0;]
affhar & affpe = fag 717 & (3)

t/s |0 400 | 800 | 1200 |1600 |2000 |2400 |2800 |3200

102  x|[163 |136 |1.14 |093 |078 [064 [053 |043 |035

[N>Os]
Mol 1.

(i) srffepaT & foy ofg ATt Bl TUFT BIFAY |
(1ii) rf™fpar @ forg o1 Faw @1 B 2

(18) The experimental data for decomposition of N>Os in gas phase at 318 K are
given below.

t/s 0 400 800 1200 1600 [2000 [2400 [2800 | 3200
102 x|1.63 [1.36 1.14  [0.93 0.78 0.64 0.53 0.43 0.35
[N20s]
Mol L}




Ques. :

Ques. :

Ques. :

Ques. :

(1) Plot [N,Os] against t
(ii) Find the half life period for the reaction
(iii) What is the rate law ?
(19) TG Y weATe™ fibam foiet 99 @ SR Bk & 39 R feueht s (3)

(19) Cleansing action of soap 1s due to micelle formations comment.

(20) foferRea SudgwdS diffTel & TUPAC w9 faRag (3)
(1) [Co (NH3)s]Cls

(i) Ko[PdCly]

(ii1) [Pt(NH;)XH20)Cl,]

(20) Write the ITUPAC names of the following co-ordination compounds.
(1) [Co (NH3)s|Cls

(1) K,[PdCly]

(iii) [PUNH;)XH,0)Cly]

(1) fAeferfRaa arfafhamen B THIHRT TH) FH=IST — (3)
(i) wrse e 3rfHfhar

(i) TosAER arfafhan

(21) What Explain the following reaction’s by giving equation

(1) Fridel Craft reaction

(1) Sandmeyer’s reaction

(22) v wHfRe e e svga C4H,,0 PCls & aifffsar o) ta diftres
(A) smar 81 KCN ¥ f5ar ax e o9 srfe difie (B) 99mar 8 o od
IUEHET P W TH D ovel (C) <ar &1 ifaforaret & wgad sF aren
T IS TR BT Ry | (3)

(22) An organic compound whose molecular formula C4H;00 reacts with PCls
forms a compound (A) which also reacts with KCN to form another organic
compound (B) that given an organic acid (C) upon hydrolysis. Write all chemical

equation for the reaction involved.



gee - (23) U et o faundiat o ta fred R S99 fea # S99 ergudy oo
T @ DO TR AR Hedl W) IuReT © IE e W deR ae sl
BATT | S UHd PINHT 7 Hol fha wRAW] B8R | e omg & o9 o9 & Jeal
1 T B ATEd B | )

Ques. : (23) A teacher gave a crystal to the students. In that crystal , its components are

present on the corners on the cube and on the faces , what type of unit cell will
this crystal be ? How many atoms will be in that unit cell ? What values does the
teacher want to develop in you ?
37T

e 7 Renfdat o 1 fed R 39 e @ oagd &9t &1 sar faw
T % PO W T TS TN B B R Rd © I8 fvwea 59 gwR @
ThS HIRNE HT BT | IH Thd IS § Gl fha wAm] 8F? e o
F B — B W T BT RS BT T8 B |

The teacher gave a crystal to the students The 8" part of the component of that
crystal is located at the corner of the cube and one component at the center of
which type of unit cell will this crystal be ? How many atoms will be in that unit
cell 7 What values does the teacher want to develop in you ?

g3 - (24) 99 e o B gwizy forad e srfafar 8k & — (1+2+1+1=5)

Cr=-0.74V ,Cd=-040V

2Cry+3Cd5E— ZCT&:‘;) + 3Cd,
(i) ¥ B E e T AR —
(i) TS FeEgle W BN aren ffhar forfey |
(iii) =TS gelagre X B dren srfafear forfaw |

Ques. : (24) Show the galvanic cell in which the following reaction takes place.

Cr=-0.74V , Cd = -0.40V

2Cr(yt3Cdag — 2Cr,ty + 3Cd

(i) Find the E°,y of cell.

(11) Write the reaction occuring on the positive electrode.



Ques.

(111) Write the reaction occuring on the negative electrode.

Freran
o=t Tt @1 298 K W) F+ive eyt forfRay —

Mg | Mg%(;r.om | Cu%&oom ) | Cugs)
Cu=0.34V , Mg=-237V

(1) ¥e 31 e.m.f. ST HIfTY

(il) TS Seiders R B dren arfafihar ferfay |
(iii) FTS gelagls 9R BN aren fafhar ferfag |
Write the Nernst equation of the following cell at 298 K

Mg | Mg%(;r.om | Cu%&oom ) | Cugs)
Cu=034V 6 Mg=-237V
(1)  Find the e.m.f of cell

(1)  Write the reaction occurring on the positive electrode

(111) Write the reaction occurring on the negative electrode

- (25) a) FrfaRea afafsament o gof Sy — (2+3=5)

(i) 2MnO, + 580," + 6H >
(i) 2CrOs~ +2H —

b) /1 &1 FRYT Ty

(i) R BT HpH ded TE A T

(ii) emgett & gRATTAIHRET B T = Bl 2|
) Cr’" @1 sorasite R fafey |

:(25)a) Complete the following equations -

(i)  2MnO74+ 5805 + 611 »

(i) 2CrO4 +2H'

b) Write the reason for the following

(1) Zn is not considered a transition element.



(11) The enthalpies of atomization of the transition metals are high.
¢) Write the electronic configuration of Cr”
aFeran
a) Forer aiffaral @1 qof Hifv —
(i) 2MnO7 4+ 5NO;, + 6H -
(i) CrO;”+ 14H' +6¢ >
b= &1 BReT ferfag —
() Hg &1 F@+id HH 8l 2 |
(i) HBHT T ITH IORS BT T B B |

¢) Co* &1 soragtfen e fafey —
a) Complete the following equations -

(i) 2MnO7 4+ 5NO;, + 6H -

(i) CrO~ + 14 + 6¢ >
b) Write the reason for the following

(1)  Mercury has lower boiling point

(1) Transition elements act as excellent catalysts

¢) Write the electronic configuration of Co*

g : (26) a) Fr=faRad Jiffrel o1 dwemn fafey — (>+3=5)

NN )

(1) 4 TR U= 2 3

(1) gc 2 57 1 e
b) frferRad afafrarett & STt & 51d PIvT —

. Bry [P
1) CH;COOH —
LiAlH,
i) CH;CHO —
... Zn—Hg
(i) CH3-C -CH; —
I = HCl
O

Ques. : (26)a) Write structures of following compounds -
(1) 4 Chloro Pentan — 2 - one
(1) But-2-ene-1-al

¢) Perdict the products of following reactions



: Br, /P

1) CH;,COOH —

- LiAlH,

(i) CH;CHO —
Zn—Hg

(i) CH3-C -CH; —

I Cons HCI

O
Frerar

a) ffafed et & [UPAC - fafee —
(i) CH3 — C -CH, - CH, -CH, -CH, ~CH;

I
O

(1)  CH=CH - CHO

0

b) fferfad aRad= o o ?
(i) vITaT & 3 BTSSRl R

(i) S=Ns®h 3 ¥ m ATSSIafoTel Vehlge
a) Write IUPAC name of the following compounds
() CH3 - C -CH, - CH,; -CH, CH, —CHj

I

O

(i1) CIH =CH - CHO

0

b) How to make the following conversion
(1) Ethanol to 3 —hydroxy butanal

(11) Propanonc to propene

(111) Benzoic acid to m — nitro benzyl alcohal

0000
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Instructions : (1) All Questions are compulsory.

PRSI

PRSI
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(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given word or 1 sentence.

(3) 939 . 6 ¥ 10 TH YAd T 2 3 IyEfed 2| (I JAr 30 7<)

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

(4) 939 % 11 ¥ 22 P YAP YI9 WX 3 b IJEfed | (e WHET 50 )

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) ¥ 5 23 WX 4 36 Il B (Isg I 70 TeS)

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) W 5 24 I 26 T YAP YT YN 5 3 JEied B (Isg GHAT 100 )
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) As,S; el & Thes # 91 & o9 a1fie gardr 21 (1)
Ques. : (1) Which of the following i1s most effective in coagulation of As,S; sol ?
(2) 2 v A @1 IUPAC =4 fifag | ()
CHj;

cooH



Ques

Ques. :

Ques. :

Ques. :

Ques. :

(2) Write the IUPAC name of the given compound.

CH;

COOH

(38) Fr=feRaa &F arelraar & 9qd Y %9 H wgafkerd Iy | (1)
CH;COOH , HCOOH , CICH,COOH , CF;COOH
(3) Arrange the following in increasing order of acidic character.

CH;COOH , HCOOH , CICH,COOH , CF;COOH

(4) SN* ifafpar g1 Ufewet oligs & SUANT B §Y AIgdell it AT
HT HeINIT TRSY | (1)
(4) Show how will you synthesize cyclo hexylmethanol using an alkyl halide by

2 .
an SN” reaction.

(6) AlET & A W W@ W & Wl &, I8 TR 59 femH @ F 9 e
&L (1)
(5) Mohan has bleading gums deficiency of which vitamin causes this disease.
(6) THNTIIN B & foy W AR ot (2) B A B IR 68% TTIH
3l BT STl faeras a9+ # SuanT far| aft fermm &1 g9 1.504 gmL! €
qN o B ZH T DI AreRAT 9T B ? )

(6) Concentrated nitric acid used in laboratory work 1s 68% nitric acid by mass in

aqueous solution . What should be the molarity of such a sample of the acid 1f

the density of solution is 1.504 gmL™" ?



PESEE

Ques. :

Ques. :

(7) wrarafe FHeRe RHP & forw faf= Arsansit m[R] a0 99 & 927 uT%
oy ® <wifar mar & — (2)

+t (=) —
(i) sfaforar & Pife sma FIRTT
(i) @5 & Srel T BNl |
(7) For a Chemical reaction R—>P the variation in the concentration , In [R] vs

time (s) plot 1s given as shown 1n {igure.

2T}

(=D —
(i) Predict the order of reaction.
(ii) what is the slop of the curve ?
(8) HRoT WIfSTT — ()
(i) BB B g ® T e ey 2
(ii) g SATl BT oI # IR TAro AAF frareier s B

(8) G1ive reason -

(1) Ammonia is more basic than phosphine.

(ii) Inter halogens are more reactive than pure halogens.

(o) fr=ferRaa arfafthar & A 3k B & W=7 9a183 | (2)

KCN  LiAlH,
CH;CH,Br —> A—>5B




Ques

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

. (9) Give the structures of A and B in the following reactions :

KCN  LiAlH,
CH;CH,Br — A—>5B

(10) EfwHaT sEARS Ak o ey | (2)

(10) Write a note on Hoffmann’s bromamide reaction.

(11) I8 &1 fFrom ARG aneel FeER T ael R @ fou sevds
aRfRerfeat fafag | (3)
(11) State Raoult’s law write the conditions necessary for a solution to show

1deal behavior.

(12) worg pife & aWfpar @ forv 97 Rerie 80s' &1 af¥fpar & s
YRS FedT 9 1,/18 o 90T X8 o § fba=r w9 g emi ? (3)

(12) The rate constant for a first order reaction is 80s' How much time will it
take to reduce the initial concentration of the reactant to its 1/18" value ?

(13) f=ferfga aRRufaar & w=r veror g ? (3)

(i) o9 e fHRT gor Pzl die # ¥ THT AT § |

(i) STeraifora BRe sffeargs e # NaCl Sgyd e fHamr o & |

(i) PreTES G 7 ¥ T a1 yarfed @t o 2

(13) What do you observed on the following cordition.

(1) When a beam of light is passed through a colloidal sol.
(i) an electrolyte NaCl is added to hydrated ferric oxide sol.
(iii) electric current is passed through a collided sol ?
(14) vt | argedt © frspyu # 7 # yde B e o w\sTsl (3)
() e @ fspyor & CO
(i) feeR & By & Zn
(iii) Bro= & fAspyo # ffera
(14) Explain the role of each of the following in the extraction of metals from
their ores : -
(i) CO in the extraction of nickel

(i1) Zinc in the extraction of silver
(iii) silica in the extraction of copper.



e - (15) fA=ferfad & Se=md SR — (3)

1) XeFy (i1) HyS,04 (iii) ClIF;

Ques. : (15) Draw the structures of the following -

1) XeF, (i1) HyS,04 (iii) ClIF;

T 0 (16) AT FT TP IeeV <0 gU e # 99 wewde Aifal @ i
B e e ST )
OSERLIEE
(i) aMwer v

(i) freewoTHs wET
Ques. : (16) Discuss briefly giving example in each case the role of coordination
compounds in :
(1) Biological systems
(i1) Medicinal Chemistry
(iii) Analytical chemistry

ge - (17) T arfafar @ gof S| (3)
(i) (CHs); CBr+ KOHE=»
(11) C6H50Na+C2H5C1——>

(i1i) CH3;CH-.CH = CH, + HBr ——
Ques. : (17) complete the following reaction

(1) (CH3)3 CBI‘ + KOH Etltlarlol

eat

(11) CsH5ONﬂ+CzH5Cl —

(iii) CH3CH,CH = CH, + HBr Pel{idf
ge - (18) T arfafraonett & wgaa aifreder @ A 918y — o)

(i) worfie Vedbiee BT FEiadeId T H FTRIBR
(i) BFTT BT 2,4,6 SIESAT BTl H HHEA |
(i) &S —2 — 3T & FGEA— 2-3ifa |



Ques. :

Ques. :

Ques. :

(18) Name the reagents used in the following reactions -

(1) oxidation of primary alcohol to carboxylic acid

(ii) Bromination of phenol to 2 , 4 , 6 tri bromophenol

(iii) Butan —2 — one to butan — 2 - ol
(19) foeel WRBGR 7 UlelefH 7 & yanT W yfasy oFT| §HeRl 4 o9
g STl ¥ §7 T &1 YN YRA {1, o9fE §9 Bie g@rer difeeis
$T &1 g3 TR @ S B uae 9 FEE I
(i) &% difeelm @ gfefia aat o a1y ? ¢ @fe difads & 9 o9
feiisd ST &1 S9N Fxd &1 9 5 qeat @ gelRfa axa g
(i) dTfreN| ST Uder 3R N @ 9 W €| 36T JeY 8 DY By |
(iii) Wil &7 Thers T B | T T F 95D I1 U8 95D © | (3)
(19) Government banned use of polythen bags in delhi. Shop keepers have started
using bags made up of biodegradable paper. but some small shopkeeper are still
using polythens bags but these are thinner and colourless.
(1) Why should we ban polythene ? what values are possessed by people not

using polythene and use biodegradable materials for bags ?
(ii) Why are polythens bags made thinner and colourless ? How can we manage
them ?

(ii1) What is/are monomer(s) polyethen ? is it homo or co — polymer ?
(20) TRT # BB AN FARIER AT UF IIE BT FANT BRd & | ST 3

BT YR BRI | A DI AMWGHAT ARG H W™ T 8 Sed DNl © |
3t B ARBAT BT yieT gRT SeRIGd foar o 8 |

() SfETm gEgo BEC T Wiy I T8 & @l ?

(i) |fezm sEgioT FEMe & o A uIds sEgease a1 At Sugad
2| 7 g% It IFligdT & SUAR & fory SuaRf 27

(i) S wS e o aTel AT fT Heat & gefid w87 (3)

(20) In India large number of people take spicy food and chat etc. Which contain

a lot of acid. Excess of acid in the stomach causes invitation and pain. Antacids

are commonly used for neutvalization of excess of acides.



Ques. :

Ques. :

(1) Why is sodium hydrogen carbonate not good antacid.

(i) Why are metal hydroxides better than sodium hydrogen carbonate ? Do these
treet the cause of hyperacidity ?

(iii) What are the values possessed by people not taking junk food ?

(21) fFr=ffgd & ®BIERT B SRNBoT 3raern w7 gl | (3)
(1) H;PO, (i) CasP; (ii) Naz PO,

(21) What are the oxidation state of phosphorus in the following.

1) HsPO; (i) CasP» (i) Naz;PO,

(22) fFeraraTse T YfIerdiess § 99T TR BIAT T | (3)

(22) What 1s the difference between a nucleoside and a nucleotide ?

(23) faw 77 Syl fved & W @ TY — (4)
A" B A B
A+
B B At J
A" B A B
B A" B A"

frrfoea get @ SR <Ifvrg —

(i) b @ N1 59 yoR o1 waadge gy <far € |
(il) 9 S & g fhved &1 €T b garfad sHm ?

(iil) f5a veR o1 mafe geref 59 SIY B AT |

(iv) 39 Y B T el T &1 T Serexw Gifvg|




Ques. : (23) Examine the given defective crystal

A" B A B
A+

B B L A"

A" B A B

B A" B AT

Answer the following questions
(i) What type of stoichiometric defect is shown by the crystal ?
(i) How is the density of the crystal affected by this defect ?
(i) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

31y

Ry Y vyl e &1 wEer FTg —
A" B AT B AT
B A B A B




freferfaa gt @ Sov Afvg —

() fpeeed @ N1 59 yoR o wadge Sy <ofar € |

(i) 39 Y @ ERT fEhical &I e HY FHIfad e |

(iil) f5a <9 o {59 R o1 amafve gared 39 < B IR
(iv) 39 T BT T drel fhecel BT T ISR ST |

Examine the given defective crystal

A" B AT B AT
B A B A B
A B A A

Answer the following questions
(1) What type of stoichiometric defect is shown by the crystal ?
(1) How i1s the density of the crystal affected by this defect ?
(1) What type of ionic substance show such defect ?

(1v) Give onc example of crystal showing this defect ?

(24) =1 o & ot BIfSg — (5)

_—

(1)CsH;CHO + CH;CH,CHO NaOH

(i)NaBHA4
({DH+

(iii)<:>_ on %
(iv) (=0t %, - ao

(11) CI13COCH.COOC.11s




()03 ) 0O
M P Dznmo CF

Ques. : (24) Complete the following reaction

(1) CHsCHO + CH;CH,CHO NaOH

(i)NaBH4
eme——
(ii)H+

CroO
(iii) ()~ om % ?

?
o O=on 2 O a0
v) =% 5 <} O

" (ii)Zn|H,0

(11) CH3COCH2COOC2H5

Freran
o=t afafrar &1 wEsTEY —

(i) JomHTE T

(i) DR aifafan

(iii) g1 JaTE SAfegay (HVZ) rfafoar
(iv) T eI

(v) ufdps srfafsar

Explain the following reactions

(1v) Resenmund reduction
(v) Cannizzaro’s reaction
(vi) Hell-volhard—Zelinsky reaction
(vil) Clemmensen Reduction
(vi) Parkin reaction
7 : (25) a) T BT FaTsy (5)
() HepavT gy WG wE # W e AT 2
(i) Ao org @ e oifedrse &g B0 & ofe S=d oifedigs Swaert o1
3T BN T |




(i) Cr’" | ¢ Y germ H Mo | Mn®" T @ fow E° @1 A9 S ae e
(+1.57V) €|

b) w9z U9 UficATss H U WA 99T U AT fIfRay |
Ques. : (25)a) Account for the following

(1)Transition metals form large number of complex compounds.
(11) The lowest oxide of transition metal 1s basic where as the highest oxides 1s
amphotric or acidic.
(iii) E° value for the Mn®" | Mn*" couple is highly positive (+1.57V) as
compave to Cr'™ | Cr*”
b) Write one similarity and one difference between the chemistry of lanthanoid and
actinoid element
aFeran

d) (i) P <t acal @1 o & WhAv qedl o IR SifefiaRer sawer 9 yor
for=t Bt 2
(i) Cu' 'R Cu®' s 1 a9 <1 o oiehg R & sRemy £ ok af ?
(i) Cr,0;” o= &1 TR <7 &R & et 35 a7 W) §rey 37 & gRkafdfa
g & 4|
e) 3rfAfamett ot gof Fifsg —
i) Cr,0,"+Sn*” +H —

(i) MnO, + Fe* +H >

(a) (1) How is the variability in oxidation state of transition metals
different from that of the P-block elements ?

(if) Out of Cu' and Cu”" which on is unstable in aqueous solution
and why.
(iii) Orange colour of Cr,O;” on changes to yellow when treated
with an alkali why ?

(b) Complete the reaction
i) Cr,0; +Sn*" +H —

(ii) MnO, + Fe*' +H -



Ques.

(26) a) Ni (NOs), & (& fea &1 wifes gelagisl & 919 50 VRgaR o
gRT yafed Fxd gV 30 e o fage owes fdan war| @ U wR
fafrer @1 foae A= o/ 8rft ? (5)
(Ni T AT 9 =58.9U )

b) fr=rfeRaa # faga e™eed & SoTg Fa FHIfvw —

i) e gemgrs & Ay AgNO; o1 ey faferam |

(i) =ifesm seasis & @ H,SO, &1 Sieirg faferas |

: (26) a) A solution of Ni (NOs), is c¢lectrolysed between platinum

clectrodes using a current of 5.0 amperes for 30 minuts. What mass of
Ni 1s deposited at the cathode ? (at wt of Ni = 58.9U)

b) Predict the products of electrolysis in each of the following

(iii) An aqulous solution of AgNQO; with siliver electrodes.

(iv)A dilute solution of H,SO,4 with platinum electrodes.
3HAdT

a) 25°C = fr=fafaa ¥ @7 emf o1 SR |
Fe |Fe* (0.001m) || H+ (0.01m) | Hygy(1 bar)
E? (Fe*|Fe )=-0.44V
E°(H'H, )= -0.00V
b) frrfeRad smuem & Iy fa= amder &1 AmEn sawgs BN |
@) A’ & 1 &ra @ Al ?
(ii) 1 7T MnO, & Mn?'
¢) Calculate emf of the following cell at 25°C

Fe |Fe’ (0.001m) || H+ (0.01m) | Haggy(1 bar)
E° (Fe*[Fe )= -0.44V
E° (H'|H, ) = -0.00V

d) How much charge is required for the following reductions ?
(iv) 1 mol of AP’ to Al ?
(v) 1 mol of MnO, to Mn** ?

0000




